MAT144 — Calculo Diferencial e Integral I para Oceanografia
Respostas da Lista de Exercicios 6

1. (a) f'(z) = 18z —8; (b) f'(z) = 1; (c) f’(x) = senx + xcosz; (d) f'(z) =

180~ 6044 () 1) = s () £0) = 22 2 ) o) = — st
—2(2x —1)*(2® — 22— 9)

2. (a) 1000z (2?=2)**; (b) 3(3x—1)7% (c) 22(x—1)(2z—1)""; (d)

(22 +3)3
—sen2a; (F) —2wsin(a?); (g) “URL). Vilns (i) evE
(e) —sen2z; (f) —2xsin(z®); (g) . (h) cotx; (i) 5 11152\/_ (j) e 2\/§+
Fven (k) In(sen (Inx)) + cot(ln z).
3. (a) 2% (b) 32° + 2% — bt (c) — cosz.
4. y="Tr—10
5.(3,2) e (=3, —2).
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7 (a) dx \/;’()dx z? + 8y 7<)dac +Sen(x—y)
8.y= -2
9. 12m/s%.
10. (a) 3" = 202® + 12; (b) ¥’ = —4cos2z; (c) ¥’ = 2cosx — xsenz; (d) 3y’ =
(22 +1)73/2,



